vy00193d

YNH3LI 3TdO3L ASNNYIA O100d "0

e,

IWIOINNW OYTHOS3L

VNHVYOY VOHYIND ONI VOOV 'O

</

#L0T

WIINICIS IV S

HIA BUNIDVLSY
TYNUINLLENOD CANIMVLNNAY 'H

3 FHIWYY OINOLNY ™
ey ® * o >

ST'E66'909'cLS 9Z'886°06E'vZ$ 92'886'06£'vZ$ 15°186°266°LE$ S0'Lpp'955°6$ 9%'vES LYY 8T$ < 0}JsB9 |2p |ejoL

L0'691'250'L$ 272694681 Z7'269'26€'L$ 6v°198'6V¥'C$ 61" ¥95'696% 00°262'¥8Y'LS euslosa]
01'2.L'85€% 09°'982'1v6% 09'982'L¥6$ 00'650'00€°L$ e 00'650'00€°1L$ eAguanald ledidluniy eloljod
06°192'2.%'6% S9°6€9'€8V'LS 59'6£9'€8Y'Z1$ GG L0¥'956'LES G5'019'926'8% 00°261'620'€L$ seol|qnd SeJqo ap uQladallg
00'v€2'095% 00°'862'v6L LS 00'86Z'F6.L" 1S 00°Z£0'55€'2$ = 00'ZE0'GSE2S lejoog ojjollesag
00°LpE'9ES 00°052'9€1% 00°0S5.'9€L$ 00°260'€/1$ = 00°260'€LLS 09JWouU0o3 ojjoilesaq
€9°2/6'V2L'LS 66'616'922'G$ 65°616'9.2'G% 22'.68'106'9% 9.'GLL'/G.$ ov'18L'viL 9% [ediojunjy ajuapisald
00°166'78$ 00°952'902$ 00°952'902$ 00'.v2'162% - 00°2¥2'162$ saselxny souebig
00'¥19'v6% 00°062'vL1$ 00°062'vLLS 00'¥06'892% = 00°'+¥06'892%$ ouwsdyuj josyuo) ap ouebig
00'6L€'LES 00'652'ev)$ 00'65Z'c¥L$ 00'8.5'081% = 00°825'08L% ojuajwejuniy |ap ellejaideg
00'¥5L'2PLS 00°005'L82$ 00°00G'182$ 00°vS9'€ZP$ 00'98V'¥2$ 00°891'66E$ eLnp|bey
00 V0¥ L¥ES 00'898'LLE$ 00'898'2.€£% 00ZL2'6LL% = 00'2/2'6LL% einjed|pu|s
SZ'EVL'00ES 00'622'LL9% 00'622'L.9% G2T.6'LL6% GL62E'LLL' 1S 00'20£'660'2$ |edipiuniy elouapisald

(r-€)=9 S ¥ (z+1)=¢ 4 [l
g S3aU0122NpaYy i
oioivialagng opebeqd opebuanaq opesyIpoN | sauojoelduy opeqoidy o)dasuo)
sosaib3 ;

810z Op 81qNnjo0 ap LE [E 0J3U3 3P | [op

BAlJRAISIUIIPY UOIOBOYISEID

soselbg ep ojsendnsald [ap 0i21043(7 [ap ooNljeuy opelsy
ebujoelsy




